

①

$$y = ax^2 + bx + c \rightarrow \text{نقطه } (2, 1) \rightarrow 1 = 9a + 3b + c \rightarrow 1 = 9a + 4a + 4 + a \rightarrow -8 = 14a$$

$$a = -\frac{1}{7}$$

$$\frac{-b}{2a} = -1 \rightarrow -b = -2a \rightarrow b = 2a \rightarrow b = -1$$

$$\frac{-\Delta}{2a} = \frac{-b^2 + 4ac}{2a} = 9 \rightarrow \frac{-(-1)^2 + 4(-\frac{1}{7})c}{2(-\frac{1}{7})} = 9 \rightarrow c = 9 + a \rightarrow c = \frac{19}{7}$$

$$C_{\text{ش}} \rightarrow y = -\frac{1}{7}x^2 - x + \frac{19}{7}$$

②

$$\Delta \geq 0 \rightarrow b^2 - 4ac = m^2 - 4(r)(m+4) \geq 0 \rightarrow m^2 - 4m - 16 \geq 0 \rightarrow (m-12)(m+4) \geq 0$$

$$\frac{-b}{2a} \geq 0, \frac{c}{a} \geq 0$$

$$2r \rightarrow (-\infty, -4] \cup [12, +\infty)$$

$$\begin{array}{c} -4 \quad 12 \\ + \quad \phi \quad - \quad \phi \quad + \end{array}$$

③

$$\frac{-b}{a} = \frac{a}{c} \rightarrow -bc = a^2 \quad (1-2m)(2-m) = 9 \rightarrow 2-m-4m+2m^2 = 9 \rightarrow 2m^2-5m-7 = 0$$

$$2m^2-5m-7 = 0 \rightarrow (m-7)(m+1) = 0 \rightarrow m = \frac{7}{2}, m = -1$$

④

$$x = x^2 - 4 \rightarrow x^2 - x - 4 = 0 \rightarrow \frac{-b}{a} = \frac{1}{1} = 1 \text{ و } \frac{c}{a} = \frac{-4}{1} = -4 \text{ ضرب}$$

$$m_1^2 + \frac{1}{m_1} + m_2^2 + \frac{1}{m_2} \rightarrow m_1^2 + m_2^2 + \frac{m_1 + m_2}{m_1 m_2} = 5 - \frac{1}{4} = \frac{19}{4} \text{ و } -$$

$$m_1^2 + m_2^2 = (m_1 + m_2)(m_1^2 + m_2^2 + m_1 m_2) = (1) \left(\frac{m_1 + m_2}{1} + 4 \right) = 5$$

$$x = x^2 - 4 \rightarrow m_1 = m_1^2 - 4, m_2 = m_2^2 - 4$$

$$\underline{m_1^2 = m_1 + 4} \quad \underline{m_2^2 = m_2 + 4}$$

$$\left(m_1^2 + \frac{1}{m_1} \right) \left(m_2^2 + \frac{1}{m_2} \right) = \left(\frac{m_1^2}{-4} + m_1^2 + m_2^2 + \frac{1}{m_1 m_2} \right) = -4 + 9 - \frac{1}{4} = -5 - \frac{1}{4} = -\frac{21}{4} \text{ و } -$$

$$x^2 - \frac{19}{4}x - \frac{21}{4}$$

②

④

④

$\frac{-x}{r}$

Ⓐ

Scanned with CamScanner